Installation Instructions
SH/Install[2016-09 Rev. 1
September 2016

Shafer SH-Series

EMERSON.






Installation Instructions
SH/Install/2016-09 Rev. 1

Table of Contents
September 2016

Table of Contents

Table of Contents

Section 1: SH-Series Installed on Valve
Section 2: Adaption Parts
Section 3: Step by Step Installation on Valve

Appendix A: List of Figures

ii



Section 1: SH-Series Installed on Valve Installation Instructions
September 2016 SH/Install/2016-09 Rev. 1

Section 1: SH-Series Installed on Valve

Figure 1 SH-Series Installed on Valve

Actuator/Controls

Coupling

Valve Mounting
Bracket

1 SH-Series Installed on Valve



Installation Instructions
SH/Install/2016-09 Rev. 1

Section 2: Adaption Parts
September 2016

Section 2: Adaption Parts

Figure 2 Adaption Parts

Adapter
P

Angle Bearing
\.
Pin\_)l o

Bearing

Sea| —— >

Adaption Parts



Section 2: Adaption Parts Installation Instructions
September 2016 SH/Install/2016-09 Rev. 1

Figure 3 Flange Top

Part Overview:

. Flange Top - Machined to fit actuator.

Figure 4 Flange Bottom

3 Adaption Parts



Installation Instructions Section 2: Adaption Parts
SH/Install/2016-09 Rev. 1 September 2016

Part Overview:

. Flange Bottom - Machined to bracket.

Figure 5 Adapter

Part Overview:

. Adapter - Machined to fit coupling.

Figure 6 Coupling

4 Adaption Parts 4



Section 2: Adaption Parts Installation Instructions
September 2016 SH/Install/2016-09 Rev. 1

Part Overview:

. Coupling - Top machined to fit bottom of adapter, bottom machined to fit valve
stem.

Figure 7 Bracket

Part Overview:

. Bracket - Top machined to fit bottom of flange, bottom machined to fit valve.

5 Adaption Parts



Installation Instructions Section 3: Step by Step Installation on Valve
SH/Install/2016-09 Rev. 1 September 2016

Section 3: Step by Step Installation on Valve

Figure 8 Installation of an SH-Series Actuator on Valve

Step by Step Installation on Valve 6



Section 3: Step by Step Installation on Valve Installation Instructions
September 2016 SH/Install/2016-09 Rev. 1

Figure9 Mounting the Coupling on the Valve Stem

! Simulated valve stem
and mounting position

1. Determine orientation and mount the coupling on the valve stem.

NOTE:
Valve shown in open position.

7 Step by Step Installation on Valve



Installation Instructions Section 3: Step by Step Installation on Valve
SH/Install/2016-09 Rev. 1 September 2016

Figure 10 Mounting the Actuator to the Coupling

Handle is threaded so it can be
removed for ease of assembly.

2. With the actuator assembly supported by a proper means, work the bracket down
over the handle until the bracket rests on the valve.

NOTE:

Handle may be removed for clearance. Replace and tighten after the bracket is seated.
Actuator shown without controls for clarity. It will ship fully assembled.

Step by Step Installation on Valve 8



Section 3: Step by Step Installation on Valve Installation Instructions
September 2016 SH/Install/2016-09 Rev. 1

Figure 11 Fastening the Bracket using Head Cap Screws

Socket Head Cap Screws

Banana Washers

Adjusting Screw, one on eact
side (not shown)

3/8” Diameter Hex Head
Screws

3. Fasten the bracket to the valve using the 3/8" diameter hex head cap screws, lock
washers and hex nuts supplied. It may be necessary to loosen the socket head
cap screws retaining the banana washers and turn the bracket using the adjusting
screws to line up the bolt holes.
If unable to achieve alignment, the adapter will have to be turned one tooth in the
required direction, see Step 4.

9 Step by Step Installation on Valve



Installation Instructions Section 3: Step by Step Installation on Valve
SH/Install/2016-09 Rev. 1 September 2016

Figure 12 Mounting the Actuator to the Adapter

Adapter

Angle Bearing

4. Remove the 3/8” socket head cap screws and banana washers. Lift the actuator
off the adapter, see illustration at the top. Now turn the bracket to line up the bolt
holes and install the 3/8” hex head cap screws, lockwashers and nuts.
Loosen the adjusting screws to allow them to pass angle bearing and lower the
actuator back onto the adapter. Use care aligning the spline in the adapter with
the one on the actuator.
Replace the 3/8” socket head cap screws and banana washers and tighten. Tighten
the hex head cap screws and nuts. Tighten the adjusting screws against the angle
bearing.

Step by Step Installation on Valve 10



Section 3: Step by Step Installation on Valve

Installation Instructions

September 2016 SH/Install/2016-09 Rev. 1
Table 1. Adjustment Available
. Angle Adjustment +|- .
Size With Screws With Adapter

SH-4.5 7,50 5¢/tooth

SH-9.0 7,5° 5°/tooth

SH-18.0 7,50 5¢/tooth
11 Step by Step Installation on Valve



Installation Instructions Appendix
SH/Install/2016-09 Rev. 1 September 2016

Appendix A: List of Figures

Figure 1 SH-Series Installed 0N ValVe.........ooveeiecieeeecececeseeeee e 1
Figure 2 YAV = o o] n 1 a7 T USSP 2
Figure 3 T o = Koo OSSR 3
Figure 4 S T a Tl 210 u o] 2 KPS USSR 3
Figure 5 a0 =] TSRS 4
Figure 6 Qo107 o) 113V [P SR 4
Figure 7 3] = T ] OSSR 5
Figure 8 Installation of an SH-Series Actuator on Valve........c...coceeverveniienienieereeeeieeeeeen 6
Figure 9 Mounting the Coupling on the Valve Stem.......ccccvevverieniecieciececeeeee e 7
Figure 10 Mounting the Actuator to the Coupling.....ccceeceereeriiniiniieeeceeee e, 8
Figure 11 Fastening the Bracket using Head Cap SCreWs........ccvevveeeieevienieseeseeneenieeseeveenees 9
Figure 12 Mounting the Actuator to the Adapter .......ccoccveeeeeiiecieeeeeeeee e 10

Appendix 12






World Area Configuration Centers (WACC) offer sales support, service,

inventory and commissioning to our global customers.
Choose the WACC or sales office nearest you:

NORTH & SOUTH AMERICA

19200 Northwest Freeway
Houston TX 77065

USA

T+1281477 4100
F+1281477 2809

2500 Park Avenue West
Mansfield Ohio 44906
USA

T+4195294311
F+419529 3688

Av. Hollingsworth

325 Iporanga Sorocaba
SP18087-105

Brazil
T+551532383788
F+55153228 3300

ASIA PACIFIC

No. 9 Gul Road

#01-02 Singapore 629361
T+656777 8211

F+65 6268 0028

No. 1 Lai Yuan Road
Wuqing Development Area
Tianjin 301700

P.R. China
T+862282123300

F+86 2282123308

MIDDLE EAST & AFRICA

P.0.Box 17033
Dubai

United Arab Emirates
T+97148118100
F+971 4 886 5465

P.O.Box 10305
Jubail 31961

Saudi Arabia

T +966 3 340 8650
F +966 3 340 8790

24 Angus Crescent

Longmeadow Business Estate East

P.O. Box 6908 Greenstone

1616 Modderfontein Extension 5

South Africa
T+27114513700
F+27 114513800

EUROPE

Berenyi u. 72- 100
Videoton Industry Park
Building #230
Székesfehérvar 8000
Hungary

T+36 22530950
F+36 22543700

For complete list of sales and manufacturing sites, please visit
www.emerson.com/actuationtechnologieslocations or contact us at
info.actuationtechnologies@emerson.com

www.emerson.com/shafer
©2017 Emerson. All rights reserved.

The Emerson logo is a trademark and service mark of Emerson Electric Co.
Shafer™ is a mark of one of the Emerson family of companies.
All other marks are property of their respective owners.

The contents of this publication are presented for information purposes
only, and while every effort has been made to ensure their accuracy,

they are not to be construed as warranties or guarantees, express or
implied, regarding the products or services described herein or their use
or applicability. All sales are governed by our terms and conditions, which
are available on request. We reserve the right to modify orimprove the
designs or specifications of our products at any time without notice.

EMERSON.



